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��������	 Mpumalanga in 
South Africa – Located in the 
eastern regions of South 
Africa, Mpumalanga – which 
means ‘place of the rising sun’ 
is an unusual mix of fast 
growing urban development 
and a tourism mecca based 
predominantly on its 
seemingly ‘rural’ and pastoral 
nature. 
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15 Refer to Appendix C: Information on Mpumalanga.  
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16 Batho Pele, means ‘People First’ and consists of a set of principles that government at all levels is 
required to implement and make a part of their operations. It is centered on improving service delivery 
and making government more user-friendly for its citizens (Camay and Gordon 2004).  
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���������  Functional Linkages with GDS Structures – the MPSM plays a leading role in shaping and 
moulding strategic planning in Mpumalanga. There is an endeavour to include as many stakeholder in 
the PGDS process as possible although structures are in place, more commitment will be needed from 
those who are bestowed with influence and power to make decisions.    

 � ��� �
 Mahlangu © 2005 
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17 The name of the government official cannot be disclosed in this report.  
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���������  The Importance of 
Synchronisation – and the 
need for broad-based 
participation in achieving this 
goal. The diagram also 
illustrates the importance for 
planning to look at the broader 
picture as well as the narrower 
context of regional planning.    
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���������  The Developmental Corridor in Mpumalanga – put in context.    
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